B-10-07

1 2 3 4 5 S -/ & S 10 ‘ 11
A
NG ER
M 413 U Efd R CBRTOR
EREEBHERE r LQL S I / |
(NEHDOH) ! L 1 SEENT 22 9N %:m:% N >ﬁ i E\}\:\* S %@ﬁ%
Sl [ T \
‘ M8 (M5) o ! ! N B
x 70 To) a
= =1 g9 - - P
A o - l |- 2
o = N | — | 10O BN
DAmfkak 1O ) ﬂ L Nk - . 4* TERUE 10 PRI R N I IS (et PR
&Fg “lofw OU$ j} EJ o _ | 2‘*M4 ‘g - @ L
- i o N | X $pBR o
, | °6 30 B ot
2% n (286) (26) 6*‘“7/\‘ | -
= = =1 W w | | \\ C
wi| O *}—=~ - T V.
B 0o 3 R s |
REETRAK S C 715 i - 25T
FANKSY < = ‘
10 25 25 i
. 5Lt U8 ‘
9 4 Al )W@#%XBOAMF@% TY,
2, Wfﬁﬁbaﬁ%ﬁ%ﬂ@@UT<ﬁ
. TERUBHSU Ty FAKET S |D
b%ﬂj} HYFT
U GB-103FKA [_
_ JIL— L 100AF
10 . EN{FE MR oo SRAHH EEDIR TEIOEEEG) 3F.3E
E : i 70 250 2 [ EBREE (V) 200-440
B 2 5 200 e | EBER (A) 50, 60, 75, 100 E
il i @ i B [(EAmrEs 0. 18
[ l 1 40 75 120 El | EgEE=nh 30mA, 100/200/500mA
100 \ A %E
| 20\ iR % . EREMSE (kA) |
m o 0 100V
i % j \\ o 0 10 20 30 40 50 éggx/mmv 35
BERE (TC)
SRS N R I _ 2 440V 10 -
NN 1 SIZAL AR =280
ol o 40 1E X B 5 T AR5y FAHR
0| o) LH L B | 4 A% RS 400
N s 5 | S5E (ko) 1,7 B
0| M ] 1] © Béy 6 JIS C 8201-2-2 HEE?
+ H s 4 > " (JIS Q 1000kAS<BEEABE)
‘ o = B8 m =
2
s - | /L 1 G
(6 0ALLE) S 0.6
| j@\ 0, 4 PNG
25@25 02
M1OKL b (MB) 0.1 B {F 2D 8 L
0, 06
.04 % 2| i e
0,02 —
0,01 @ H
gggi g ﬁ E] — % Qﬁ T T I T T T T T T T T
100 125150 200 300 400 500600 8001000 1500 2000 3000 40005000 (195 08 2 (| ; GiBiﬁHUBiHKiAEUQi i
B (TREBARICHTT % %) sy - TEERAH
1 2 3 4 5 S -/ ‘ & ‘ 9 ‘ 10 ‘ 11



